Channel Routing Practice Problems:
A portion of the inflow hydrograph to a reach of channel is given below.  If the travel time is K=1 unit and the weighting factor is X=0.30, then find the outflow from the reach for the period shown below:
	Time
	Inflow 
	C0I2
	C1I1
	C2O1
	Outflow

	0
	3
	
	
	
	3

	1
	5
	
	
	
	

	2
	10
	
	
	
	

	3
	8
	
	
	
	

	4
	6
	
	
	
	

	5
	5
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Determine the values of the routing coefficients x and K for the Muskingum method and the hydrographs given below.
	Time (min)
	Inflow 
	Outflow

	0
	0
	0

	15
	55
	5

	30
	105
	10

	45
	170
	30

	60
	205
	70

	75
	195
	100

	90
	160
	125

	105
	115
	130

	120
	85
	115

	135
	60
	110

	150
	25
	100

	165
	10
	75

	180
	5
	65
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